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2 Pulses of Best Profile
Candidate:

216.17Hz_Cand

Search Information

RA = 19:11:44.5816

DEC 13:47:57.5888

i J2000 _ J2000 ~
Telescope: Arecibo Best Fit Parameters
Epochtopo = 55296.40358794644  Reduced Xz = 70.222 P(Noise) ~ 0
Epoch,,, = 55296.40422268907  Dispersion Measure (DM; pc/cm”) = 30.943
sample = 6.5476e=05 Py, (ms) = 4.62558068(25) P, (ms) = 4.62506242(25)
Data Folded = 7818240 Pliopo (5/5) = 0.5(3.8)x10 Poary (3/5) = 0.0(3.8)x10
Data Avg = 8.496e+04 P" oo (s/s?) = 0.0(4.9)x10™* P bary (s/s?) = 0.0(4.9)x10™*
Data StdDev = 4845 Binary Parameters
Profile Bins = 64 P (s) = N/A e = N/A
Profile Avg = 1.038e+10 a,sin(i)/c (s) = N/A w (rad) = N/A
" Profile StdDev = 1.693e+405 T . =N/A
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